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Instructions : Each question has J'mmu_.dmm-. (2)  black and white
There is only one correct option ﬂr‘t each {3) hueand cry
question. Choose the correct/most ::;J#rgqu ieite (4y  far and wide F
aption and darken the -—.w.ﬂnpmadum yirele | 006, Choose the most suitahle ct =
with blue/black on the OMR Answer Sheet, noun from the options given be F
SECTION-"A": LANGUAGE The students T:Il't::xtllilud 8 — -
001. Find a word which is opposite of the lowers to the distinguished gue:ltr-.-.l
given word : 7~ bhouquel (&) "SPeAREE ™
HEIGHTEN (3)  batch (4)  pack ot
decrease _; 007. Choose the correct option 10 compiete
(2)  strengthen - the sentence ;
(3)  maximize N | wish to know______ the
(4) widen ':‘D is pleasant in Delhi or not.
002. Choose the word which 15 ﬂ!_';‘,ll'?i}' the (1)  weather, whether
same in meaning to the word given (2)  whether, whether
below : _ (3) _ weather, weather
DEMISE . whether, weather 1
(1)  rebirth \(2)/ desth 008. Change the gender of the underlined
(3)  iliness (4) b word :
003. Fill in 1he h’lunl-: by choogipg the The fox was hungry.

(1)~ colt (2) Aflly
CaMohil \,(é(' vixen (4) foxes
009. Identify the part of specch of the

underlined word in the given sentence :
*My mother will come soon ™
(1) _ Adjective

Adverb
(3) Conjunction
(4)  Noun

010. Fill in the blanks with plural forms -

Singular | Plural

formula -

sheep -

(1) formula, sheep

(2)  formulae, sheeps

(3) _ Tormulas, sheeps
A formulae, sheep
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Read the following passage and answer the
quesLons that follow : _ .
Conversation is a fine art. It is the arl ol

exchanging thoughts, Itis an artwhich ﬂ"?'h“fiﬁ'

can cultivate or master. Not everybody can paimt
or play music, but almost everyone can talk.,

Thus itafTords 'To talk’, says R.L. Sleversan, is
aur chief business in the world. And talk, is by
far the most accessible ol pleasures. It costs
nothing in money, 1t 1s all profit. It completes
our education. makes friends and can be
enjoyed al any age. Conversation is indeed the
most teachable of all the arts. All you need to
do is to find a subject that interests you and
your listeners. For example, numberless
hobbies to talk about. But the important thing
is that you must talk about the other fellow’s
hobby rather than your own, Therein lies the

[

Fe

5
1y

Q0

0O
() l(f.') [How can you become pe ypular?
(1)  Bydiscussing about death
Z) By talking about listener’s
hobbies
(3) By discussing about education
(4) By talking about our hobbies
013,  Onthe basis of the author’'s view, which

statement 1s not true?
(1)
(2)

Talking costs nothing.

Doctors are willing to listen to
our miseries and sickness.
\}Z{‘ Knowing how to say is not as
important as what to say.

(4}  Talking can be a means of

pleasure.
{H'!l_'.: Find a word from Para 1 which means -
) Within reach

N |
M Accessible

3 (2)  Fellow
(3) Teachable
(4)  Chief
015. Fill in the blank by choosing the

correct word :

It is important for childrento

' ge-ad MANNEKs.
:1:'::j_ '. bore
(2) avoid

cultivate

pleage



016.

017.

018.

—

— Y
Clibose the correct articles from the
n Option ;
ul is ~_intelligent son of
0 poor farmer.
(1) a, the (2) the, an
(3) anan \y( an, a

Fill in the blank by choosing the most
suitable word |

(E{ru's handwriting is . lam
gmable o read 1.
illegible
ambiguous
By cligible
(4) immigrant

il in the blank with the correct form
of the verb ;
Wiile |

e

ane.
%ﬂ had been writing

had written

a letter, my teacher

021, Identify the form of the tense in the

following sentence |

Soham had sung a song.

(1) . Present simple

Z)  Past perfect

(3)  Present perfect

(4)  Pastsimple

022, Tldentify the nouns used In the
following sentence !
Every person should perform his duty.

(1) _ every, person
person, duty

(3)  every.duty

(4)  person, perform

023. Fill in the blank by choosing the
cOTrrect pronoun .

This is the girl all admire.

(1)  which
(2) that
whom
(4) who
024. Choose the correct spelling :
(1) saparate
(2) _ saperate
separate
(4) seperate
025. Form a meaninglul sentence using the
jumbled expressions :
(a)  aswarmas
(b) itis believed that
(¢)  sixsweaters
(d)  apashminashawlis
b @ @ ©
@ ) (@ (© (@
@3 O © @
@ © @ O O
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Instriictions : Each guestion has four oplions.
There is onbone correcl option in each
question. Cheose the correct/most appropriate
option and derken the corresponding cirele
with blue/blableon the OMR Answer Sheet.
Sectiop*B" : MATHEMATICS
026. My mahier says that in her childhood the
price of petrol was T 15 per litre. It is 4
72 peclitre today. By whal percentage the
price edpetrol has gone up ?
CIR0%
2) NE60%
(3) C::n‘.iﬂ'“"n
(4) ﬁﬂﬂ?ﬁi}
An item was sold at T 5840 at a loss of
20%. The cost price of the item was:
(1) T 4582
(2) ¥ 7500
7300
(4) 4672
Namedhe type of an angle whose the
meas@e is the difference of complete
anglé-dad the angle whichuis 5 Limes ©
y- ?: ::-J.I-_ L =
(2) St
(3)

027.

028.

:mm%ﬂﬂﬁm%l e
Eﬁﬂm@ﬁmﬁ%l a8l /man -
Raeg & gfa 3T OMR ST §T Ty

026.

027,

028,

Ay e o @ FE & 3% qm i
Yore 1 ged T 15 9fey Sfiex amn o %

2 72 5 et B Qg B 4 A

aftrerer 1 9f & & 7

(1) 380%

(2) 360%

(3) 250%

(4)  400%

P g 20% & & A T 5840 H
¥ W A W AT T 9
(1) T 4582

(2) T 7500

(3) T 7300

(4) T 4672

IH B W UE Tad AEH 99 H
FO7 T AR B A B A T
F AT & FUET 8

(1) & o

(2) @@ H

(3) gea ®

B (3) T A

029. 15 8 & @ 9% H =X 0T 9

;-i‘mw%n BS % TS AN )l T
(1) 3.954.
(2) 3.88 .
(3) 3659
(@) 3.77%.
0,009 + 9.09 + 0.9009 - 0.09 =7

9.8909
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031, A train covered o certain distance witly
aspeed of 120 km/hr in 40 minutes. 1
the speed al the train 18 increased 1o 1 5()
L:IH']I.I". IhL‘T'I how much less iume TRY |“
take 1o cover the same distanee
(1) 10 minutes
(2) 16 minutes
\y( B minutes
(4) 3 mmnules
032, A liquid is heated to a temperature of
S0° F (Fahrenheit) and the temperature
ol another liquid was ratsed to 257C
(Celeius), The difference in
temnperatire of the two liquids in degree
celcius 15!
)y  15%C (2) 1G°C
[3) B (4) 12°C
033 The supplementary angle of the

complementary angle of two times of

one-fifth.of a right angle 18 :

2y 1247
) 144°
sum for 4 years

|
| U3l

| 20 Fad). e
g am #y afy IEm
iy agree 150 fd sfa @t & o A
Elr.['lln |;T ";-E[ FI] | ;.-FI'E I| _.-"r"l .EFT'-FT 9

Rl el 4 8 ';'|

"Ir.] T['|-'] G

HeE & ¢

(1) 10 e

(2) 16 e

(3) 8Te

(4) 5 e

g 24 50" 1 rrr"F giEe) AT A% T
h*ﬂ m w BEER Ag E| W A
25¢ ﬂ]F‘T’:I?TI:T-EFJ'?"I"TT"T14?TF’1T
& FTOEE T et A #eead =

i) 1 5°C 3 1 0°C

(3)y &°C (4) 12

(1) 1267 (2) 124°

(3) 132° (4)  144°

i 3 %58 i 5% s T 8 4
o % fe FEg # S 38/ T 850
g O O T 6 G R B
GERE] 4% A9 T W 694 %12151'[{
Frag &, TEd 39 T 840 T =6
frm 3% 20 PR @R gl
Gﬁiﬁ'ﬁ’fw

(1y < 1230
2y T 750
B3y K 520
(4) T 1690
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035. 1 & 60) & ;Es a3 IV

035 Sum of all the prime numbers between :
| and 60 having 3 as the unit digit 15 gemalt 1 A FF:%’H LR
3% 387 W
35 2 [29 "
\W 1335 (<) (1) 135 2y 129
(3) 78 (4) 168 (3) 78 (4) 168
036, Read the given statements and choose | 036, Bu 7o S@+1 Fl Go-a T8l [T 3 L
i : - —
the cormreet option ; O T o
statement-1 : A line has two end points, -1 : 1@ F & 7 g e 2
statement-11 = Two lines either interseet =11 : & En T Wil % T
or-are parallel. T A ¥ 2
\)/f' Only statement-11 is true (1) a0 F44-11g9 2
(2)  Both the statements are true (2) B A Feeedeg #
(3)  Both the statements are false (3) & & Tﬂ';%qﬁi 2
(+)  Only statement-I is true (4) & B s
| , 3 L3, L 5
037, Sumnita bought 3-‘1 mof clotli. She used | 037. ﬁfﬁﬂT o -"J Hi. HIET TAE I 7
5 5 Al. H9ST AT e F &
5.0 cloth for Kurta and — m cloth for < gy
i 3 M Wmﬁ%%ﬂnﬁ‘maﬂ
Qo
N1 I6F U e
! s |
B 21, 2) 2— .
A = 22 @
3 2— 0. ) 22— W
(3) 3 4

038, FERA qdEn § S e 7 wehE &
. OB ST 2%
TRl & ol W g3 183w 3

(2) 155
(4) 145
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(139. The least aumber which when divided | 939, & @@ & 8@ G640 Foray 25, 40 41 60

2N 4 | raves 9 @ ' - : - . ea X o
by 23 | and 60 le EH—H 15 Lhe & Pt e T, e Tl # M9
rcmumd:@mch case 15 -

AN, B

o o | =
M ﬁllg <) 591 (1) 609 (2) 591

(3) SO (4) (19 (3) S00 4y 619
-— e -
040, Read the given statements and choose | 040, Farr w7 FAt B Te A GE e
the correct oplion : B
Satement-1: A secant of a cirele is a -1 ¢ g9 A e o o TETEE
line segmeny having its end points on 2 ¥ B g fdg 99 W Feeel 160
the circleQ) ¥ nin
Stal-:m-:nﬁ: A chord is a line passing - [] : AEl g9 B TR g ad e oAl
L_hmugh I{Eﬂ centre of a circle and O gl
uucrse:ufgjhe circle at two points.
+ qferRe BTl
(1) Only statement-11 1s true () A -1 Ed -
(2)  Both the statements are true (2) Al FET §A -
\/{ Both the statements are false (3) A YR S B

(4)  Fad HEE-1 FE ©
041. The ratio of price of coffec to that of (41, A< FH W G < 2= A 100 3 &
4 per 100 gm o1 W & g T 180 of Feaw. B, A

(4)  Only statement-1 is true

413 (1y 4:3 (2y 4:3
(3) 3:4 (4) 2:15
042, sf I 23 d@ =mm B, T A

34 g1 e B, 9w 4 1S 4=
e BROT a4 W 5/6 9E SR

Bran Bes waw st 99y W
(1) °™
(2) o

(3)
(4) HTH

(PTO.
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ng Thﬂ""l"ﬂlllt.!ut‘j:klﬁ =4 -2 %3S (144 13_,_1&_4_3135[1]1:[% .
\ylf 30 (2) 6 (1) 30 () 6
3) 20 (4) 26 (3) 20 (4) 26
5 z 7 i
050, The decimal form of the sum t‘:t'—_TI and | 050, = G| = S i 7 L G E [
| : 75
2 18 (1) | .875 {21_‘:' 0.8
(1) 1.875 (2) _ 0.875 (3) 2.175 42 1.275
(3) 2.175 1.275 5%
051. 50 chairs and 30 blackboards were | 051. % Preed % W ﬁ[}-_fém aar 30
purchased for a school. If each chair cosls 2 = iE ™ 3R gRrE Fl T
¥ 1065 and each blackboard costs 3 1645. 7 1065 ¥ T TR e @ I
(hen the total amount of the bill is : ¥ 16452 & fa % % L
| (1) 92,600 (1) T 92,600
| \)z{ % 1.02.600 ) T1.02600 -
| (3) T 1,20.600 5}
(3) ¥ 1,20.,600 i 5
| 4y T 1,02,500 g
4) ¥ 1,02,500 LB
- 4 ] .'ir 7 .,i.';lr % .
| 052, The value ol ‘T in | 052. ‘J—Eﬂ }’1_‘3:"5 ﬁ"_ WA B
1 : B =
(1) 3 (2) 3
3
3 i
(3) 3 Hﬂ 3
053, fF B @ 0% Eﬁ#ﬂr IR B
s ¥ FE 5 @ B, HAE B
_____ g A 15° afeE B el @
Fit F e Bryw & AW 8
(1) TEuEE g9
(2) EHIEAE T
(3) THEEE

(%)



054. The perimeter of the following ligure

IS ;

. |
SR

jcm

10m Aem

¥ 5
3 em J-Em

1 em dem

(1) 45cm
(2) . 30 ¢cm
\ys( 36 cm
(4) 54 ¢m
055. Which of the following statements are
not true 7
(A) Iwo acule angles are always
supplementary,
(B) Two obtuse angles are always

-
. =i

R 5 )

i
&
E
=
!

1 7). 1 HH,
(1) 4534,
(2) 30 .
(3) 36 #t.
(4) 54 @4

Frsr & @ F9-9 797 T 78 & ?
(A) & TR Hed H4E B
(B) & Aferbror HaT WY A9 &
(C) & IUET F 5 GHRE 5 o
3 A3 aua &, 9w
(D) UF ~FET O O R
i BT ol 0 4 o seR T
(1) 39 (B), () sl OF
2) @ (C) (D) O
(3) Fa (A), [B}Gﬁt{ﬂi
(4) Fag (A) 3T (C)
P & * 0 A9 B
3058 —* 7 =3 % Q%

11028



]

058.

o0
I horrowed T 3500 for 3 years af'the

NS

L

ate of 4% p.a., B borrowed % 4208 for
2 years al the rate of 5% p.a. and-C
horrowed T 2800 for 3 years at the rate
of 3% p.a. on simple interest. Which of
(e following statements is true ?

A. B and C all have to pay ?_rl;t}

L)

cach as simple interest L
; P )

(2) OnlyB and C have to pay {,ﬁu
each as simple interest ¢

(3) OnlyAandC have to pay ﬂ:l_l{]
each as simple interest

(4) OnlyAand B have lo pay 2420

each as simple interest o
A solid euboid is formed by joiging
three solid cubes of side 4 cm each £Xhe

lum ,,ﬂ:l.ﬂ.-.l':l.lbﬂid 50 formed i§N

Kt

(58,

059.

AT T 3500 % 3ad & fem 4% A

A, BAT 4200 29¢ & fem 5%

i 77 & aar C 9 T 2800 F 1At F

R 5% affes &r # Fare =T 91

w07 foran AR Ro @t A 8 -l

T Ul & 7

(1) A Bam c, gl o# T 420
AT = A A

(2) Faw BT C, urrE T 840
MO @0 a1 &

(3) Faq AT C, T § 2 420
4y @@ AT B, qis & T 420

AL A AT B

4 307, o A A A T B AL
qmﬁrﬂmmw%ﬁﬂmﬁ
ST S AT ©

(1) 643 (2) 128 &S
3) 256FR2 (&) 19zEE?
T B Ny # & F4, SAWEaT (A)T
% (R) R & oFgEs 3 AE
?ﬁﬁmﬁqfﬁﬁﬂﬁtﬁﬁﬁﬂﬁﬁﬁ
|

A (A) : 41 T o TE
@@ (R): 30F Fa & PHES &, T
| 31 g8 e W=

(1)  (A) @ (R) 3A @@ & di
(R), (A) Ft G2 =ren 18 ©

2) (A)TEE I (R) 58 78 8

3) (AT 8 2 A R) T8 B

(4) (A)Tr (R) A & § T (R)
(A) %1 T IR

[PT.O)



060. Theareasofasquarcand a rectangle are
equal. If the side of the square is 30 cm
and the breadth of the rectangle is
25 em, then the length of the rectangle

18

(1) 40 cm
\1;/ 36 cm

(3) 42cm

(4) 3Bcm

061. A shopkeeper bought two mobile
phones for ¥ 15,600 and T 14.400
respectively and sold them for a total
of T31,200. His loss or gain percentage

I8 :

\}Jﬂ/ gain of 4%

(2) lossof 4%

060. TH I TUT TH AT P MG I 8|
A af 1 s 30 8.4, & qr ama

greE 25 3.4, &, T 97 7T H T=8
B

(1) 40 8.4.

(2) 36 9.4.

(3) 4294

(4) 38 H.H.

061. TF FTHERX 7 & AEEd BF BT
0% 15,600 71 T 14.400 § & T
4% 7@ T 31200 % 3= Rem gw
Fl) 4%

“(2) 4%EH

(3) 8% =M

oA 6% T
062. i i Ao & 99 290 £ @
5 ¥ 2809 2 & O
%ﬂﬁﬁﬁﬁ‘—[fﬁﬂ:ﬁmﬁ? ar
SRR T A T A ) e d

(1) 42 (2) &4

(3) 45 4) 90

A 47 i K (x +y) @ oA R




064.

063,

Read the given statements and chogge
(he correct option :

gratement-l : The diagonals of 5 Square
are equal in length and are perpendicylay
to cach other.

gratement-11 : The diagonals of 4
rhombus are equal m length and are
p:rpumlitulur to each other,

(1) Only statement-11 1s (rye
(2) Both the statements are true
(3) _ Both the statements are fulse

f Only statement-1 15 true

Ifa=Sand b= 15, then the value of

LEH]EW{E” - a) is;

h

i1

LG4

O0AS .

Lty

Fi

F-1 T B Rt w3 A A
¥ o gy @ 2 2 ‘
FE-11 : FHEEA & mfr’ H
AU A A weEy @ o el

(1) & -1 7 &
(2) ¢ FO9 79 &

(3) =T = 3
{4)

qft et T b=158,

o) AL

':-III'I'-"-‘IFI .':h!-'_.'-.-| | J'l"l'_l

L | Eits =) 3 S
\ .'rJ s

(1) A (2) | ¥
(3) 4 (4) 24

oF WiBg] 3 S5 BB 640 WM. G,
*-ﬁi!T[" . =T el 6 Feam. 8 oL
FHEC e 30 3= BB 2 1%, 45
7. TaE GUE &, e 39+ g9 ekl
Jhl EE,: : !

(1) CI2.973 B
(2) Op[}.mn fe6.37.
(3) <640 Beam.
(4) 13,460 T,

35 RE®l ® ogwm ¥ 87.50 1 &M
T 7309 T v & fean fomd w@iE

(2)
(4)

12

i

126
[PT.0]



068. Arrange the lollowing fractions in

069,

%,\

—
e L
by | =l
Lk | Pk

ascending order :

2 1 S 7
e T
i 69 12
IR A (W
W 53% 2
s e A
g | it | B e i LA
(2) *9'3.° 12

G 2
0 i |
f 9°6 12 '3

I'he length. breadth and height of'a room
arc 1050 cm, 750 cm and 425 cm,
respectively, The length of the longest
tape which can measure the three
dimensions of the room gx:
1 .-,,r. " g

068,

069,

070.

o3 8 fell A ord i
FHe

2 1 5 f
== T —
3 69 12
Tk ) SR
(1} 3°3'% 12
1§ 2 7
(£) ;1~E.".-1 |?.
LS 2
3 t gy oy
() 69 12 3 )
15 e o)
W Seme; 0

w1050 Aft., 750 AL T 425
A0 B wan a9 A9 T S
FC Tl AW A AT S Hh, B
(1) 150838 (@) o .97
(3) so#A. (4) Os .
Pt & B B Ty

(A) TREFE T 4 Edm L @
T® SEw A 8§ Rawy 2l

(B) iz H% 7 3 741 5 | fewrey
g, Mg ISA AR =g 26

(C) z-ﬁiﬁﬂ?ﬂﬂmﬁmm
g 4 v 2 o

(DY @ ®AE fEem F A

geq 4 ¥ faursy A
Faw (B) & tc}‘;
#aa (B) 3T (D)
Fad (B), (C) 3T (D)

g (A), (B) 3T (3
(o),

0

1028



What should be added to the SUm of

071
179,08 and 20,17 to get 512 2
(1) 313.25 \}2( St
(3) 321.75 T
072. 1f48% ofa number is 120, then wha i«

170% of the number !

\,y/us (2) 385
(3) 475 (4) 400

073, A rectangular piece ol land measures

700 m by 500 m. It is to be fenced with

4 rounds of wire. The length of the wire

needed 1S ¢
\;&}/' 9600 m

(00 4800 m

W]

12 9| w7 & o 179.08 ST 2017
% A 3§ g A #ew 7

(1) 313.25 (2y 31275
(3) 321.75 (4y T11.25
ofe Bt v = 48%, 120 & @ 39
HqEm & 170% 0 &

1) 4325 (2) 385

(3) 475 (4) 400

o oTEET TEvE A R 700 H
M s00 & F oA 3 AT THA G
w2 s A B TR

g
(1) 4800 #H (2) 9600 =
(3) 8600 ¥ (4) 7200 =

1512, 17, (x+5). (x-1) 41 22 F ed
15 Bl x & 9H z

(1) |2 (2y 8
(3) 10 (4) 20
Rt get 7 I S &/ FHE S

¢ Breads 91T 0 UR BadEs | a
e et & 9= B g

45°

90°

[PT.O



Instructions @ Each question has four opions frde : W W O % Ria i = o A
There is only one correct HIFILI'H'.H i I'Hi'l'rF B F‘EFF:':[ T Tﬁ-’ﬂ T‘r;!,f! %.—,‘l '-!'{'FI]T,.-"HF:.'H __:_q?];g-__p
gquestion. ( Tiooxe the correcl/maost apwrofy il tere il }i‘f:fa Mr OMR F-7F% T Lipibe
rlr'.‘HHI'I |-'I'J'|l'I icirken the |4H'F'i"-.;ff.l'h'iiln'.|'|'_ll' L““f'l‘ll 'h?:1 -1?‘ T?rl-”f o %ﬁ:ﬂih

with blueBlack on the OMR Answer .‘ﬁlfliu"if.‘, - e
SECTION-“C" : INTELLIGENCE -+ ¢ gRe

076. Choose the correct mirror image hl:ﬂn_' (76, 'ﬂ'f?:]f'r-l (X) & qel F'"'TTII!JTFTfﬂFJ 'i-'| ﬂ?'.
figure (X), when the mirror is placed Lfsm, o= qdo F= A AmE B T

(¥ A ““L' -‘ll_ll‘.f as "-..h{'l-\\]] |'r|_:11'|u, ; .fl"nli 'T*r mﬁq‘—_l- i-ﬂ__r-a-l- __rﬂT-r

A A

a :: O £

i '.a

X 3 0 ﬁ

]
(X) = E
B . (X) B

—
(1) B | @

e —

077. F=ifeiem ¥ € FET W TEEH

(1) MOQS (2) GIKM
(3) BDGI (4) RTVX
078. 3% Fw (f=an) ¥ = Bw ged gm@R
q, & Fa (I TW) P @ BT AW
Hi-ur & g
(1) 9FER
2) TET




)
) , cn
9 which of the Tollowing nurngpy will
(" :
rup'ﬂ”"' the questhion |1'|=':rir.{'1r;,";l'.ip, the
given figure matrix, if the "-iﬂ'l‘ﬂ., rule
among the numbers is 1':.}!Iuw::r:{ Cither

row-wise or column-wise?

- -

3 ] 7 ap

— X N

15 r.} 3"_? ::'1._"'.

27 72 63 o=

—

(1) 32 \Q‘Z 40~
(3) 48 (4) 20

g80. If‘Ball’iscalled *Cap’.*Cap’ is called

‘Pencil’, ‘Pencil’ is called *Eraser® and
‘Eraser’ is called “Bag’, then u-'%.—['}\'num
Arjun wear in sunny and hot dfr{?
o
.

079, ﬁwfmﬁmﬁf{mﬁfﬂﬂﬂfmﬂﬁ
-t e gt (7) eI
Foh, ot m A o (3) @ e T A
w8 thentt sy # o # FaE @ A

LAl Bl

| 3 " A \
|5 | ! 15 \
37 | 72 63 |

(1) 32 (2) 40

(3) 48 (4) 20

ofr G Ay, T @ R ﬁﬁcﬁ
& ey o T # T wed B, @ T
A oy o R & oA T T

(1y e

O#0.

[PT.O]



Find the missing term (7) in the

81
| following series :
ADC.FHGILK, 7
MPO
(2) ORQ
(3) MPQ
(4) NQP
083, Arrange the following words as they
pecur in the dictionary :
(A) LIZARD
(B) LEARN
(C) LITTER
. (D) LEAVE

(E) LESSON

Choose the correct option from the

following :

N82.

U83.

(184.

Pt Een § T W (2w

Fif: "
ADC, EHG ILK. :
(1) MPO

2) ORQ

(3) MPQ

(1) NOQP

g ¥ ot A w A e
(A) LIZARD

(B) LEARN

(C) LITTER

(D) LEAVE

(E) LESSON
Fegt § @ @@l fasweq F F9F Fih

E.f-i (B). (M), (E), (C), (A
@ @), O ©, € O
@ ®), ©), E), (A ©
@) (©). (A), (D). (E) B

() % % & R g & o) & A
& Fifte wwra &1 Ru o feed 11
3G 9= F AT Few A et 6= |
ﬁw—u%az
%im::g&ﬁ 7

(B

(2) Hri-dsq

3)

@

11028



ﬂFf‘ I in “';4; IMEssH g Numbgy |

) in - dEwT
fol low e W he | og Freyfinfogesy 8| apmr dm | 1) ALl fif

."-r-.-l-.-.
| i
(1) 20 (1y 120
. a2 | 1) 121
(3) e | (1) (11
(4} 110 (4 (10
ngh. Some ol the IL'“L'IT‘.Q are missing (blanks | 086, &3 & ndft aof 20 4 afgq:rﬂ a4 1%
indicated by °_") in the letter series a0 weifa) B @t At @t g0 B
given hﬂ_‘-u Choose the correct order e frr = o 96 -"F; = R W
of lette®1rom the options given below Freeeqt & & 99t & @8 B9 W CEN]
o Tl E the blanks to complete the G
letler SCTICS a aba ba ab
‘ﬂ____ Il_ bE__ ab (1) bbab
(2) aabb
(3) baba
(4) abba
pR7. Fefafes @ 8 s9m™ B wEe
i
(1)

[PTO]



Arry mng <« erlain

ot figures =
5¢ mnnhumn

ors i gIVED below. The
q similar patierti.

low
sch figure fol
dlht missing pumber (as indic: oy
1.
@ ©@C
8 (4) 3
089, Arrange the following words in logical
sequence from big to small :
(A) Cat

(B) Honey-bec

(1) 12
3) 8 . 9
089. Preferiias gl 1 AR TT H T A
(A) ot cN
(B) TgFGEl -
©) @ 15
(D) =24
(E) SR WP,
ﬁqﬁfﬁﬂﬁﬁﬂéﬁmw%ﬁq
(D B, (A @ (©. O
2) O, ©), E— B). (A
3) ®B), (A, @, O, ©
4) D) (€), @ A). B
090. wH syl g 0 @ f

;mﬁ@!ﬂ}ﬂﬂ?ﬁ?q

@ fo ud@ v
(2) 10

U RLPLA ¥ o @ 37
U AR AT B @i it AT

| B R R M Rl § oE T

lﬁ“’“ ) # YeE AP frad @ €

H= 8
w5

(2)
(4)

) g
3) s



901 Complete the I'n]hu.n;i“u analog
= 1_'.3 _

BAT : 23 :: DOG - 3
(1) 28
\y”:/ 26
(3) 27
(4) 25
002. Findthe missing number (7) of the iven
Series .
5. 10. 20, 35, 7 80
(1) 45
421/ 55
(3) 60

091,

092,

093.

Frifafrs geaemn @ T A0
BAT:23::DOG:__ 1

{1}
26

() 27

3) 2

Ly

A e ¥ ga de () @
5 i ) |y

{i .80

e

5,10, 20,30,

-..'lij 45

(4)
B oo et ¥ § 39 el @ |99

HifT A fEeT F B TE B A
Eﬁ,’}ﬂ:ﬂmﬂﬁ:

alLl?.

F

¥

[PT.O,



096 Find the o one out among the
)

lollowing g:’

N (5

(2) 100

il

L)%

5

Uy

s @ i S

7t wa #
F._J o

:Ifl'-r-—'i H e

(4) ZHlCY

Prafafere f 8 S99 3
(1) fr-d
(1) 146 (4)

T gEEg 9

WS anage Hifae ot =

i

® WY 9T gNEy 9 8 B



(198.

099.

[here is certain relationgy;

. P bety
the tWoO Le€rms given on the 1o gen

(::). Choose the correct
the misSIMg term

side of
nltemmwc G

‘ | . h;irm_u, the similag
relationship with the third term

ABCD : KLMN :: GHIJ - )
e
(1) PORS

M QRST

(3 OPQR
(4) RS T

There is 4 certain relationship between
two numbers given on the left side of
(:2). Choose the correct number from
the given alternatives for the missing
number using the same relationship.

o4 []64 T

O9R,

uss,

(&)

{::1%@%5‘@“‘1%%‘2;:2
o Pt w8 BT

mﬁﬁqﬂﬂﬁmﬁﬁmqﬁ
g o 99 m&%‘,ﬂﬁ‘?ﬁﬁ'

ABCD : K .M?\Eﬂm W
(1)  PORS t{g

(2) OQRST s

(3) OPQR 3

(4) RSTU NI

}glw%a.mmﬁﬂ

L
qu FE T Bl
) DY S e OO
(1) 31 ¢
3
. Ly
(2) 32 O
Gy~ 33, W
4 21
100, I® 4+2=6
.
40 + 20 =40
o
400 + (<000
CO
@ o @ 48%[1 = 6000 a1

®+@+Ziﬁlﬁ1’[% |

(1) 4002
(2) 2202
(3) 2222
(4) 4202

P10,



ustructions : Each question has four oplions
There is only one correct option in each
question. Choose the correct/most apprapriate
option and darken the {‘{H'n’T.’Js"r.:r{J'.I"Hf;!'.l’i-g-%{‘f'f‘{'l'li’

with blue/black on the OMR Answer ﬁr
SECTION-“D" : GENERAL KNOWLEDGE

901. Who are known as 'Kalbeliyas'@O
(13 Peoplewhodo l‘.'irming_n,
(2)  People who catch fish from river.
\,@’r People who make snake dance.
(4)  People who sell old bottles and

NeWspapers. —
“102. The famous Indian King whobuilt the
Y TajMahal was ........ : N

oW Bbw @ Al

2 L m FE ]

10T,

102.

103.

104,

W
@)

vl -
| ! b L
i -.u-' L] ‘
|
I e
ok

(1} ""-:f—-—“'-: S
(2) 3 @y, A 7RI A HST T g

(1) =ET (2) T
(3) gl (4) BAY

AR AT & e efeiad 5 8
43 T g4 e S &7

(1) geEsf (2) gHMERET
(3) WRBT  (4) I

{

(1) o (2) g

(3) g @) e
W Y % R et & & mig o #
werr P &7

TS (2) &7

RED (4) oS
B W TSR S o

(1) = i

1. S g



107. Goleonda Fort is locateq ;

(1) —daisalmer " Which city 107, #eriter o Peey Peg oo & s@rem@ 87
(2) I:‘*l-‘,;rm:ll | R
o ik el (1) St |

(3) COPanjim (2) W

\Wﬁhl‘.u.lhad (3}  ooraAl

108. Whoamong the tollowing found q (4) EEvEmE

mmquumaprmd Malaria? Uthat | 108, Freifefas & A BeEd 98 g Hl ﬁﬁ
(1) —Lregor Mendel HegT WA e 8
(2) %Lﬁi!.ﬁnmlmng (1) ImAsd
3 T ' (2) = S
(3) OCGeorge Mestral

M &%Gnald R.oss (3)  Sffet AT

(4) TAwE 19

109. When one bee finds flowers with 109. 7F TF AYATE! qFE § 9 1 Sl
nectar, what does it do to let the other P St gz TET owE Sl g F {H‘f\
bees know where the nectar is? qﬂqfapgﬁf Ft # HAFLa OB Q?:ﬂ':*
(1) =A special warning call wredt S e T
(1) o s a3

(2) C_ﬁ!ectric signals

(2) T Hea
(3) & R Ty egE
(4) U A9 B # T
(10, 99 wWeagEd 7 Sousm HEwaEn 3

e A & fe o 9 R ¥
-
(2)
| (3) @&
kY 4) T

111, FI9€ GO B A T% TEE g gee
e e e B

(1) el =&

(2) g Rk
(3) T U
4) TERr B

[RT.0)



Read the fallowing slatements t
112

calt is v wle |
llowed to dry in the

1 Water 18 o
S
g The sed water is collected
shallow beds dug in the sand.
1. After the waler dries the salt

remains on the around.

Choose the correct order of the

gtatemants o l-.""\.['i]-.lﬂ! how salt 1s made:
(I I, I
), & I, 1]

-sﬂ( gl M

(4) L 11, I

113, Whywill a person not drown in the Dead | 113.

Sea even if she does not know how to

n how 112.

114,

il s,

mﬂqiﬁ]ﬁmﬁﬂ‘amﬁhﬂT e

porft @ T ;

T qﬁTTﬁTEIq !I-"I—‘Eh fef &z
e T &

‘.Pr:('!'T-*ﬂTfrrn

o g

m-qqgﬁﬁgaﬁmﬁqu
1 qrfnc?qﬂﬁfﬁﬁaﬂ?w*ﬁ
v 5 AT B
q-q‘ra-q'ﬁ EﬁTW‘FPﬁTﬁr

m%nﬁrmmﬂﬂﬂ?ﬁ

y o0 L Te

2) 1 m I\

(3) 1L, I m

AR 1. IIlr

S A e @ T ate

’iﬁﬂm(ﬁaﬂ)qmraﬁﬂm?

(1) Fs T g TE e

(2) it T8 TaTellair 2

(3) TR T wEES T
g r\

) E‘qﬂ:;q"ﬁ UHICHET S 2l

'II'[ETI ﬁ —'H]' ﬁ:"'q

- mﬁw@mﬁ vl

(1) @ Q) g
& (4) ot
—_ O TR e o 9w



mfadhubani', a very old ¢

is from which state in Indiay N7, e 2 o e v,
(1) Chhattisgarh ca B A e & PR o 8
(2) Jammuand K-‘Hhmir?« () e
/ Bihar k’ . (2) g 37 FET
(4)  West Bengal € (3) TAert
8. What is a'drought'? (4) S S

3

may fail. (1) o9 faepm @i 8 o0 T

(2)  When heavy rains CAUSE water o e FaE & Wl el
overflow, s,
) (2) v ayh Ay & w9 B
(3) When the sudden %!ﬁkinE of Hr=T sifes @ N .1
ground causes a seriégdf waves
in the sea. o8 (3) 4 aeh F o B 8 WA

en tnere 1S land sl 1ﬂg |
occurred on the hills.a (4) @ et O 9 W o 2

19. What is the capital city nf‘l@ﬁﬁed Arab | 119, @gFa owe e (Z.0d.) H TomE

N Fr-A1 BT B?

(1) Smg a0
(2) 9WEE
(3) 99

4) %W
120. ‘g H W aRE & R e &

apaftad &7

(1) UGS

(2) [EomEe wiy
(3) HEIIE WY

(4)
[PT.O.|



e
. e JEdl HE)
131, Who was the hirst man to step on the 121. & W% a4 Tﬁﬁ i
Moon? fr? =
Neil Armstrong (1) =1 THEI
(2) Peter Conrad (2) qiet W
(3) John Young (1) o= I_PT
(4)  David Scott (4) 2faz i -
122.  Adding which ofthe following to water | 122, 71 g Prefortad ":{ a4 7 g
will make eggs float in the water? o e i T w7 )
(1) Chalkpowder (2) il (1) dfE MEst (2) G
Salt (4)  Suogar (3) AH% (4) ClEl
123. Inwhichyear did the Dandi March take | 123, @il aEn &H ° a4 afed EF" o i
place. when Gandhiji with several other st 9 feifesr 9% BT A T ety T &
people went on a long walk from feo & G s L NG F
Ahmedabad to the Dandi seashore in JENEEE # gl i CO AN £ £t 7=
Gujarat, to protest against the British Yae = Y
Law?
92 g, ’,
1930 (4y 1919 (3) 1930 (4) 1919
124. masmamu fann ufSAARL’? ey . =g T &




